Multi-Step Word Problems

Addition & Subtraction

1. Connie wants 19 balloons for her friend’s birthday party. She already has 8 red balloons, 15 green

balloons and 9 blue balloons. How many more balloons does she need to buy”?

2. Art students were each given 25 paddle pop sticks to build a small picture frame. There were 3
steps to the build. In the first step, students used / of their paddle pop sticks. [n the second step,

they used 8 of them. How many paddle pop sticks will be used in the final step”

3. James is saving up to buy a guitar that costs $75. So far, he has $48 in savings. This weekend he
will earn $12 washing his dad’s car, and $18 mowing the neighbour’s lawn. Will James have

enough to buy the guitar? If so, how much money will he have left over?

4. Chris hos built a model aeroplane using building blocks. He used 65 blocks to build the body of the
plane, and he used 23 blocks to build each of the two wings. How many building blocks did he use

in total?

5. Lenny was organising her collection of toy cars into " bags. [n the first bag, she put 6 cars. The
second bag has twice as many cars. The third bag has /7 more cars than the first bag. The fourth

bog has 2 fewer cars than the second bag. How many cars does Lenny have in total?
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Multi-Step Word Problems Answers
Addition & Subtraction

1. Connie wants 10 balloons for her friend’s birthday party. She already has 8 red balloons, 15 green

balloons and 9 blue balloons. How many more balloons does she need to buy?

13 balloons

2. Art students were each given 25 paddle pop sticks to build a small picture frame. There were 3
steps to the build. In the first step, students used / of their paddle pop sticks. [n the second step,

they used 8 of them. How many paddle pop sticks will be used in the final step”

7 paddle pop sticks

3. James is saving up to buy a guitar that costs $75. So far, he has $48 in savings. This weekend he

will earn $12 washing his dad’s car, and $18 mowing the neighbour’s lawn. Will James have

\E enough to buy the guitar? If so, how much money will he have left over?
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Yes, $3 left over
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4. Chris hos built a model aeroplane using building blocks. He used 65 blocks to build the body of the
plane, and he used 23 blocks to build each of the two wings. How many building blocks did he use

in total?

111 blocks

5. Lenny was organising her collection of toy cars into " bags. [n the first bag, she put 6 cars. The
second bag has twice as many cars. The third bag has /7 more cars than the first bag. The fourth

bog has 2 fewer cars than the second bag. How many cars does Lenny have in total?

41 cars
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